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A) (B) (©) (D) (E) (F) (G) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 1244 1.0 100.0 1.0 - - 13.1 2.6 123.2 1.0 98.3 1.0 - - 13.1 2.6
( 2) 1244 1.0 99.9 1.0 - - 13.1 2.6 123.1 1.0 98.6 1.0 - - 13.1 2.6
( 3) 117.9 1.0 99.9 1.0 - - 114 23 116.7 1.0 96.9 1.0 - - 114 2.3
(4)]| 1166 1.0 100.0 1.0 - - 11.3 2.2 116.6 1.0 96.9 1.0 - - 11.3 2.2
(5) - - 98.8 1.0 - - 13.2 2.6 - - 96.7 1.0 - - 13.2 2.6
(6 )| 1238 1.0 100.0 1.0 - - 14.3 2.8 123.8 1.0 97.4 1.0 - - 14.3 2.8
(7)]| 1170 1.0 99.7 1.0 - - 14.1 2.8 117.0 1.0 99.3 1.0 - - 14.1 2.8
( 8) 108.6 1.0 99.7 1.0 16.4 3.2 14.9 3.0 107.7 1.0 99.3 1.0 16.4 3.2 15.1 3.0
(9 )| 1054 1.0 99.5 1.0 - - 10.4 2.1 105.4 1.0 95.3 1.0 - - 10.4 2.1
(10) 109.7 1.0 99.4 1.0 - - 114 2.3 107.8 1.0 96.9 1.0 - - 11.4 2.3
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